0 2 4 6 8 1012 14 16 18 20

track x?

berset

N of associated (recoToSim) looper tracks vs normalized X’

0 2 4 6 8 10 1214 16 18 20

track x2

syoen areandnp

Soel} e} oney

16 18 20

recoToSim) tracks vs normalized x?

[{

2 4 6 8 10 12 14

track x2

syoel axey oney

O.\t

[N o associated

s normalized x?

K v:

track x2

roCV, N
BI’OCVE OctoberVersion

=
er
erl

ORICHY

T—MOBIFIEB1Y

syoesy angy oney

0 2 4 6 8 10 12 14 16 18 20

0.

~
o
-

[N of reco traci

syoen

T ROt
[ Nofreco track vs. 4 ———— Bé

syoen



	Contents
	Page 1


